
wykop + nasyp - wykop + nasyp - wykop + nasyp - wykop + nasyp - wykop + nasyp -
mb m

Suma algebraiczna

m

Tabela robót ziemnych

Kilometr Hektometr
Powierzchnia Średnia powierzchnia

Odledłość
Objętość

ZuŜ.na miej.
Nadmiar objętości

m

0+020,00 3,00 0,04 59,40
1,95 0,13 20,00

95,80

60,00 0,60 59,400,60

36,40

0+000,00 3,00 0,02
3,00

m m

0+040,00 0,90 0,22
39,00 2,60 2,60

0,03 20,00

m

0,80 0,30
0,85 0,26 20,00 17,00 5,20 5,20

0+060,00 107,60
14,00 6,20 6,20 7,80

115,40

11,80

2,40
115,92

2,40 0,52

0+100,00 1,12 0,68

4,00 2,92
0+080,00 0,60 0,32

0,70 0,31 20,00

0+084,00 0,86 0,88
0,73 0,60

0,99 0,78 16,00 15,84
119,28

1,43 0,62 20,00 28,60 12,40 12,40 16,20
135,48

12,48 12,48 3,36

0+120,00 1,74 0,56

0+130,00 1,54 0,38
1,64

147,18
1,15 0,37 10,00 11,50 3,70 3,70 7,80

154,98

4,70 4,70 11,700,47 10,00 16,40

0+140,00 0,76 0,36

0+160,00 1,18 0,36
0,97

167,18
1,39 0,21 20,00 27,80 4,20 4,20 23,60

190,78

7,20 7,20 12,200,36 20,00 19,40

0+180,00 1,60 0,06

0+202,00 1,60 0,06
1,60

224,78
1,20 1,20 34,000,06 22,00 35,20

RAZEM:= 62,88 224,78287,66 62,88


